
FRENCH NATIONAL 

ACCOUNTS (2007) 

- Aggregate taxes and transfers 

- Labour, capital and consumption taxes 



Introduction (1) 

 

 Use the french TEE (tableau économique 
d’ensemble) 

 

 Compute ratios between aggregate 
taxes/transfers and national income 

 

 Compute labor taxes, capital taxes and 
consumption taxes 



Introduction (2) 

 1) Presentation of the TEE 

 

 2) National income 

 

 3) Taxes / transfers 

 

 4) Capital and labour shares 

 

 5) Capital, labour and consumption taxes 



1) TEE (1) 



1) TEE (2) 



2) National income 

 

NI = GDP – Captial depreciation + Net foreign 

income 

 

GDP = 1892.2 G€ 

CD = 252.2 G€ 

NFI = 9.9 G€ 

 

NI = 1650 G€ 

 



3) Taxes and transfers (1) 

 Employers’ social contributions 

 

 Taxes on production and 

imports 

 

 Taxes on income, wealth, etc. 

 

 Social contributions 

 

 

 Subsidies (product and 

production) 

 

 

 

 Social benefits and transfers in 

kind 

Taxes Transfers 

We do not take into account ‘other current transfers’ (non-life insurance, within 

central government, international cooperation), not a counterpart of a tax. 



3) Taxes and transfers (2) 

T 

A 

X 

E 

S 

In G€ (% NI) Paid by national 

economy 

Received by central 

government 

Excl. SSC 504  (30.5%) 501.6  (30.4%) 

Incl. SSC, not imputed 841.1  (51%) 809.2  (49%) 

Incl. SSC, imputed 887.7  (53.8%) 842.5  (51.1%) 

a 

b 

b 

c 

a : rest of the world 

 

b : rest of the world + corporations (insurances…) 

 

c : social benefits from the employee corporation 



3) Taxes and transfers (3) 

T 

R 

A 

N 

S 

F 

E 

R 

S 

In G€ (% NI) Paid by central 

government 

Received by 

housholds 

Subsidies 26.1  (1.6%) 3  (0.2%) 

SSB 617.3  (37.4%) 678.3  (41.1%) 

Subsidies + SSB 643.4  (39%) 681.3  (41.3%) 

a 

b 

b 

a : rest of the world + corporations 

 

b : all agents, but especially corporations 



4) Capital / labour shares (1) 

COE : compensation of employees 

GOS : gross operating surplus 

GMI : gross mixed income 

CD : capital depreciation 

 

 

Net GDP = COE + GOS + GMI + T – S – CD 

 



4) Capital / labour shares (1) 

COE : compensation of employees 

GOS : gross operating surplus 

GMI : gross mixed income 

CD : capital depreciation 

 

 

Net GDP = COE + GOS + GMI + T – S – CD 

 

𝑌𝐿 𝑌𝐾 𝑌𝐾 𝑌𝐿 

1 − β β 

𝑌𝐾 



4) Capital / labour shares (2) 

 

 We will assume that β is egal to the capital and 

labour share in corporate value added. 

 

 

𝛽 = 32.4% 

 

 

 



4) Capital / labour shares (3) 

 If we note α the capital share in the net GDP, 

we have : 

 

𝛼 =
𝐺𝑂𝑆 + 𝛽 ∙ 𝐺𝑀𝐼 − 𝐶𝐷

𝐶𝑂𝐸 + 𝐺𝑂𝑆 + 𝐺𝑀𝐼 − 𝐶𝐷
 

 

 And so : 

 

𝜶 ~ 𝟐𝟑% 



5) Labour, capital and consumption 

taxes (1) 

𝑇𝐿 𝑇𝐾 𝑇𝐶  

Taxes on production and 

imports 

Taxes on income, wealth, etc. 

Social contributions 

 

 

 We will assume that the rate of capital taxation 

is the same in the household income than in 

the corporate income. 

 

 



5) Labour, capital and consumption 

taxes (2) 

 We have (in G€) : 

 

 

 

 And finally (in % part of L, K, C in NI) : 

 

 

𝑇𝐿 𝑇𝐾 𝑇𝐶 

Incl. SSC 481.2 116.6 289.7 

Excl. SSC 97.5 -- -- 

𝝉𝐿 𝝉𝐾 𝝉𝐶 

Incl. SSC 45 % 36 % 19.2 % 

Excl. SSC 9 % -- -- 



Questions ? 

 


